€))

L / 1] L / 1]
3.11 4.28 0.046 0.061 0.045 0.074 ™
3.11 4.28 0.012 0.054 0.009 0.090 ™
( 3.17 4.28 0.042 0.064
Nal (T1)
*1 H21 H17 S50,S55,H13
@
-131
( )
/m?
[ ] [ /m] [ /]
3.15 4.28 -131 ND 14
- 5,000
( )| ( ) -131 ND 7.8 152
-134 ND 12 9™ 20,000
-136 ND 0.37 3.5 100,000
-137 ND 11 37 30,000
-95 ND 0.17 7.0 70,000
-99m ND 0.22 6,000,000
-129m ND 5.4 48 ™ 20,000
-132 ND 0.23 63 ™ 20,000
*1 S61.5
*2 26 S556.4
-131
( )
/m?
L ] [ /m* ]
3.15 4.28
-131 ND 2.3 511
( ) ( )
*1 S61.5




)
L /1] [ /1]
15 4.2
3.15 4.28 137 1.1
( ( )
*1 26 S56.6
-131
( )
-131
4.11 ) 0.6 1.0 /n
_131 *
4.12 ) 0.34 0.42 150 1 /n
4.19 -131 0.95 3.0 /kg
4.12 -137 4.2 25 150 3 /kg
[ 4.12 -137 | 0.081 0.13 0.67 /kg
)
*1 S61.5
*2 $52.10
*3 $56.7
*4 $52.7
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1 00 82/0
1 00 L2/%0
1 00 92/%0
1 00 52/%0
1 00 ¥2/%0
- 1 00 €2/%0
—— 1 0022/%0
3 00 T2/%0
x 1 00 02/%0
1 00 61/%0
1 0081/%0
3 00 LT/%0
1 00 9T/%0
1 00 ST/%0
1 00 ¥1/%0
1 00 €T/0
1 00 2T/%0

(4/618 )

3 00 TT/%0
3 00 0T/¥0
3 00 60/%0
300 80/%0
300 L0/V0
300 90/%0
3 00 S0/%0
300 ¥0/¥0
3 00 €0/%0
300 20/%0
300 TO/%0
3 00 TE/€0
7 00 0€/¢€0
7 00 62/€0

A 00 82/€0
o 300 £2/¢€0
300 92/¢€0
3 00 52/¢€0
o 7 00 ¥2/€0
3 00 €2/¢€0

=S DETELE)

_7_“
+

g —t
=
L

-131(Gas)
131(Dust)
-137

-l
—0— |-
—&4&—Cs

-

1 00 ¢e/€0
1 00 Te/€0
1 00 02/¢€0
1 00 6T/€0
7 00 81/€0
7 00 LT/€0
—» 1 0097/€0

-134
9

131(Dust)

131(Dust)

—O0—Cs
I I

.
ll

=413

100

313 3/143/15 3716 3717 3/183/18 /20 3/21 3/22 3/23 3/243/25 3/26 3/27 3/2B3/29 3/30 3/31 471 4/2 4/3 4/4 4/5 4/8

f , 300 51/€0

10 ——3F1H

01
001
1017
1018
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101

A9F131, £V ILATORAP~ADRHBE (E=4) 5

(ew/bgw LTSN

LTLAEDTY,
12

w
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